
                                                                  Самостійна робота № 7                                                           5 кл
                                                                                 Варіант 1

1. Обчисліть:  а)294*24; б) 85*603;   в) 1312:16;   г) 7224:24.
2. Обчисліть значення виразу:  а) 49 + 41*11 - 300; б) 88 + (129+15):12.
3. Розв'яжіть рівняння:

               а) т* 43 = 3483;       б) 21х = 546;   в) 465:у = 31;      г) х : 48 = 17.
                                                                    Самостійна робота № 7                                                           5 кл
                                                                                 Варіант 2

1. Обчисліть:  а) 328*17; б) 502*58;   в) 6597:89;   г) 22348:74.
2. Обчисліть значення виразу:  а) 289 + 52*11 - 400; б) 87 + (142+27):16.
3. Розв'яжіть рівняння:

             а) т* 47 = 1645;       б) 63х = 1134;   в) 1813:у = 49;      г) х : 11 = 46.
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